Indicativo vs. Subjuntivo
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Horizontal
1) PRESENT: USTED SACAR
9) PRESENT SUBJUNCTIVE: USTED
DESAPARECER
10) PRESENT: USTEDES DESAPARECER
12) PRESENT: YO SACAR
14) PRESENT: NOSOTROS DESAPARECER
16) PRESENT SUBJUNCTIVE: NOSOTROS
PERTENECER
19) PRESENT: USTED PEDIR
20) PRESENT: TU PARECER
23) PRESENT SUBJUNCTIVE: USTEDES
DESAPARECER
24) PRESENT SUBJUNCTIVE: USTED MEDIR
27) PRESENT: YO SABER
28) PRESENT: TU DESAPARECER
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Vertical
PRESENT SUBJUNCTIVE: USTEDES SABER
PRESENT: USTED CONDUCIR
PRESENT SUBJUNCTIVE: NOSOTROS
DESAPARECER
PRESENT: USTEDES HACER
PRESENT: TU HACER
PRESENT SUBJUNCTIVE: TU DAR
PRESENT: NOSOTROS CAER
PRESENT: YO DESAPARECER
PRESENT: TU DAR
PRESENT: USTED VER
PRESENT SUBJUNCTIVE: NOSOTROS
PRODUCIR
PRESENT: NOSOTROS PARECER
PRESENT: NOSOTROS REDUCIR
PRESENT: USTED OIR
PRESENT SUBJUNCTIVE: TU CREER
PRESENT: USTEDES SALIR
PRESENT: USTED DAR



25) PRESENT SUBJUNCTIVE: USTED DAR
26) PRESENT: USTED SER
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